






Simon
Sticky Note
Properties exceed E17 but do not meet E23





Simon
Sticky Note
Is this a requirement of Eurocomp or are they assuming a worst case?



Simon
Sticky Note
This looks to be working out what the member can take in compression with a safety factor.

Simon
Sticky Note
Using simple Euler buckling for a pin-pin strut, again with the safety factor. Not clear why a length of 1800 mm has been used.

Simon
Sticky Note
Finds compressive failure load by considering compressive crush load and compressive buckling load as two effects acting in parallel - see old year 2 buckling notes.




























































